‘ , i tions through physical, gz
* Formation, Order, Degree, Types, Solution; Formation of d'ﬁ‘effrer:rliila?c;:iation. Linegr, pNchnIineargtat?lrir;;'l
mechanical and electrical considerations, Order, De_gree of 2 T)]:rto seperable forms, Homogenenys equ:
* [irst Order Equations: Variable seperable, Equatronz g:c:izlulii form exact equation and their Solutions,
equations reducible to homogeneous forms. Linear an _ : ; : ,
. H?gher Order Linear Equat?on: Property of solution, Linear differential equation with constant coefficien;
- ~for X = e Sin ax, Cos ax, X", eV, XV. . ‘ ioacti :
* Simple Applications: LER circuit, Motion under gravity, Newton's law of %OOI;ngéa?:diI:acélf\flzcct’?;a{:ifofpwé
growth, Force vibration of a mass point attached to spring with and withou ping « =Qulvalenc
electrical and mechanical system. :

T 1. fHH srame witwor @ i vd U @t aRiii @i

. SW—AThHT AHHIUN & HIE (Order of a Differential EQuation)—ﬁ»‘H’T HAIRA AT
SYRAT HEWH IFA (Highest derivative) H1 #9136 Sraael THHT 51 Ff FE 2

SAEUT—xdy + ydx =0 = -j—i+l=0 @i =1 I
. X .

—

3w HHIHTUN F1 UM (Degree of Differential Equations)—f&dft stasha geietor 4 3
HedH 3A9heTst (Highest derivatives) ﬁﬂﬁﬁﬁf 3Y T, TR i U (Degree) Fgd 21 T
i T (Fractional Powers) @1 &toft (Radical) fo

W= B =Ry
w1 2. Tafafes saew wite & ik (Order) 79T O (Degree) Fra@ &I
L d’y ., d 3
A) 2 =sinx B) — = k% (C) [___y]_ [ii—‘i} =
- dx? w dx. *y
d*x : dx
(D) F 1+[d—y} =0 [UPBTE X

2y Ly T Pl | R

A S 2 I L | W

dy . qﬁ-ql. _dy |

— —_— = = . - . '

INT (A)dx sin x MEEIE| dx?ﬁqﬁ = aﬁﬁ=1
mmi’.ﬁm:l



sraEe wHteor [69]

2
Wmix—giﬁm = Yd =
dv | dy‘ 3
0) —A’[——] - d B
([d\} Ddx+y O:WW=E=>@@_3
\ d3
Waqwd—g’aﬁma — H@ =2
X
2 2 2
o £, 1[3] -0 x| _ | [
y? dy dy* dy
A AR &/ T T W,

g STl d—f- YA = HE =2
dy

2.0 : i -

dz.y
Wmdx R UG = U@=1
T 3, wqﬁmmuﬁmmﬁﬁﬁﬁﬁ%ﬁ“ﬁ%ﬁﬁ%aﬁya&wﬁm%l

[UPBTE 2005]
T g9 H F= (0, a) %lmﬁy-a&rmﬁz}ﬂ%l ¥ @ W e @

aaaqa%wﬂw(x B+ -kE=r 3
- 0)2+(y ay’ = a*

24y -2ay=0
T9q sEEded A W,
dy , dy _
ZX+2ny"_2adx 0 (1)
T 4, it (1 +x9dy = (1 +y)dx W T F [UPBTE 2004, 05) -
T—fem- 2, (1 + Ay = (1 +y)d - *
o w7 TER FE W,
dy _ dx

(1+y%)  (A+x%)



(70]  SIvg nfvrg.Inn
BRI e S —. R,
J. dy _ J“ dx
B} ) )
an™ y=tan! y 4 c ?IE‘T ‘c’ WW_W?F %l

_ | 1| Y=X |
tanly-tan!x=¢ = tan 1[ ]—-C

1+ yx
kL Y7 _tanc=a ()
I+ yx
v—x)=a(l + yx) TEt vty T
< dy ' o
R 5. wtE gi‘ =€V +xt-¢? @ T N (UPBTE 2
S—a g, ) %: “y-sze‘y:e‘-e"y+x2-e'y=e“ye‘y-(g‘+x2)
q1 dy - x
— =dx- (¢ + )
' ‘ ey
a @ dy= (& + Pdx

<A 9&l 1 T F1 W,
Iey-dy 2 I(ex+x2)dx
3

y_ x, X
| e =e +—3—+c TEt e T ¢
. d |
YT 6. QHIHTUT j:-=I+x+y+xyaﬁBﬁBz'ﬁl
. |
- FIm—fza g, ' < =1 =
I +x+y+xy—(l+x)+y(1+x)=(1+x)(1+.v)
dy
a1 e
a+y) x(1 + x)
TAFE F T,
, (] ) JC2 :
og(l+y)= x+— T
BETY)= x+—-+logc (9T log ¢ wwrarer fraaid 2

y = C'e[“ﬂ | Ilﬁ andfte 4l 3[




g QR [71]

7. &S WRETe D _ (2 dy
A2l y.xdx—a(y fa)aﬁmﬁﬁml
| dy)

ﬁ{——ﬁ\’m%, (_ @ [2 dy
| y xdxj aly +—
9@ O-a) = (@rn2
dx

q dy dx

| y(1-ay) 3 (a+x)
e
y (-ay) (a+x)

log y +(i)log(l —ay) =log(a + x) + log C
-a

THHE W,

Il log[ 4 ) = log[C - (a + x)]
l-ay ’

| Antildg o W, s _yay) = C-(a+x)

qM ‘ ' y=Cla+x) (1 -ay)

v 8. Tt et &1 ous |HIE, wﬁaémqaﬁwaﬁﬁrﬁmn
m—ﬁﬁﬁwaﬁw%— |
x-a?+@-b’+@-cf=r"
W(abc)wﬁé%éav—s{ﬁasﬁm%l
, for @1 w31 37 x, y 3R 2 WA F T W gl & e 2
YT 9. WHIETUT (x +y) (dx — dy) = dx + dy T T K
SR—fm 8, - @) @-d)=(dx+dy) |
dx+dy=d(x+y)

o E dx=y) = x+y (x+y)

G A x—y=u AAM x+y=V
dv
du=—

o v

TR . W, o :
u=logv-logC (=T log C =
\ I lv g . . |
u.— og

0 S 3 v=C'€u

I'x+y=C'6’x_y

[UPBTE 2022]

[UPBTE 2022]

WA fAdE)

ﬂﬂm'&'ﬁ%| :



[72]  3rgwges wfra.mnn

T 10, |efteoy "3‘ {1og_y.+1} = g &
X X

M y=yy = D L
dx dx
s ﬁﬁﬂﬂh‘m Q = —X[loﬂ—+1] Ll
de X b
v+xﬂ =v(llogv+1)=viogv+v
dx
dv_dx
vlogy  x
T HA W [ '=j—d1
: viogv
log(log v) = logx+logC
'log(log ‘_’) log(x
log v =x*
v= ¢’
¥ 11. mﬂmx(y - x)dy = y(v+x)¢lx3ﬁﬁﬁ?ﬂ={|
S—fen % x(y = X)dy = y(y + x)dx
' dy _ yy+x)

dx - x(y-x)
'qT-'1’Ty=vx‘=> | Ai)i=v+x£ii

dx ~dx

v+x£1£ vx(vx + x) v(v+1)
Y xx-x) " o))

dv _ vy 2 2
ar P AR L Vitv -yt 4y
| de y-1 VT T
q1 I:t._ljldv = -‘_ix_ = I:_L__l_ - dx

2y X 2 2] T
. 1 1 dx
———dv = [&
FAHEH B W, I(z -2va\Ix
lv—llo v =]
V7> gV =logx+C
2 Leg2 o
" 272 e
- %_1ogy+logx =2log x + 2C
z=1og'xy+c gl
q1 X : 1 C1=2C

(logv=1%



@SN gitw T (73]
Tt dy X+2y-3
7. — = y ﬁmwl

1 dx  2x+y-3 (UPBTE 2009)
gy @ _ X +2y-
A dx_mw’fﬂ‘%lmx X+had y= Y+kr{a9mt
dY _dy
dX ~ dx

_(g _ (x+h)+2(y+k)-3
dX  2x+h)+(y+k)-3
dy _ x+2y+(h+2k=3) | e)
7 dx  2x+y+Qh+k-3)
AW h+2k-3=0 TN 2h+k-3=0

o (h=3-2k) BRI 23 -2K) +k-3=0 )
= . 6 —4k+k-3=0 [k=1]
: h=3—2x1_
T (1) |/ oon
ar _ X+2v XamY@rm?ﬁa@ﬂwm%l
X .2X+Y
e ' Cy=vx = Yoy x¥
| dX ax
vax X+2VX 142V

dx 2X+VX 2+V

| : \ 2 2 _ q_u2
m AV 142V 142V - Vieav 1oy

1l

. T dX 24V 2+V ,_.2+V
= [ 2+V -]w:ﬂ
| 1-v)(1+V) X ‘
wifyrer for # Wfafdd &k @Ahed 9 R,

1

I 1,3 ]dV— ax | "
200+V) 2(1-V) X |

1 3
Elog(l +V) —Elog(l -V) =logX+log C

1+V 2
og 3] =log X* - C*
1-V) »

x+nX: e

xopy CXC 2 ED=-ntd yov.xy
Bl -1+y-D=@-1- y+1)3 ¢ X=x-170 y=,_| @ w
Rl l(x+y )=@-y’c gt e T )




(74 ST iy

| . +3 |
W13, wiewe Do b W43y g w

dx  dx 2x+3y+4-
SIS T etteror e T 2 o

dy _ dY
x=X+h 99 y=Y+kr@ﬁtR

& dX

vdY C(X+R)+2Y+R)+3 X422V 4 (h+2k+3)
dax 2(X+h)+3(Y+k)+4 _2X+3Y+(2h+3k+4)

WO Tt oy % ford #
| ht2k+3=0 W Zh+3k+4=0
h=-3-2k 80 2(-3-2k) +3k+4.=0

= 6-4k+3k+4=0 = [k=—2] qm [ =]
THE (1) § |

& X2y Gﬁwﬁm%|
dx _2X+ :

Y=VX = _di—v X?_’K
o - X dx

v= x4V _ X+2vx 142y
| dX 2X+43vx 2+3V

| - | |
e TN 243V 243V
243V dx . "
B [2]=7=>[2+3"V_ﬁ£
- BVi-1) @v2 X
A H W
. ” .
I- 24V el OV o o
ve_| L ] @ve-1 X
VBl
- -
' BRI
= 11 log \? +-2—log(3V2~1) =-log X + 108 ¢
3.1 V+— _—
5w A
.=“ —-1) = log| &+
. L . 7o LFVH +5log3V2 -1 X
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| | ¥=vx
- \f [§}}1 ﬂ llog[wlzxz]ﬂog[%}

= X =x-h=x-18MY=y k=y42T@ W

L (VB+2)-x-1)) 1. 2 e—1)?)
_10 3(y+2)2 ~(x—-1)?) _ [ C )
\f(y+2)+(x D) 2T oy ) T e

T log \/_y+2\/§ x+1) (3312+12+‘12>’—"‘2‘”2“"\1/2 - log—=—
\/_y‘+2\/§+x—1J L | (x=1)° J F-l

(fy x+2f+1) (3y —x +12y+2x+11)”2 = C-(By+x+243=1)

: 0 | et AHtE T R
T 14, T Ey = sin x - 2y tan x @ T FAI : [UPBTE 2010]
e 3 Cody
—fEm €, ' d—+2y'tanx =sin x
i » ‘_
SEI P =2tan x a1 Q=sinx
e Wu:c: (LF)= eIP 2 pltands  ogsee s
 glog elseczx__, SeCZ'x T
y-IF= [QI-Fdx+C
y- sec’x = -sinx-seqzx-dx+C
y-sec x =" [sec xtan x-dx +C
y-sec*x=secx+C- |
E i N . 2
pIf i . y=cos x + Ccosx : “ﬁa“ﬁt’m%u
15, FHimTOT (x+25my+3)dx+(2x 4sin y - 3)cosyd;,—0 & T a?ﬁl
TR—fen 2, (r+2sin y + 3)dx + (2x —4siny = 3) cos ydy=0 iy

M-dx+ Ndy=0 (2)

wiwon (1) 7 @ F G T, ' '
. ‘ M=x+2siny+3 & N=(2x- 4smy 3)cosy
oM
E}

0+2005y+0 2cos y




[76]  3rprgs wiftra.my
N =(2-0-0) cos y = 2c08 ¥
ox ;
L | o TR, T iy
Oy ox |

; :mﬁlzg?{’ M‘dx+I(N ¥ e A 78 T x ) dy =

I(x+23i“)’+3)dx+j(-4sin y;—3) cosydy =C

2
X _ .
o . j['2_+2x3iny+3xj-l70082y—35iny =C

@ | X* + 6x + (4x — 6) sin y + 2c0s 2y = 2C

97 16. axammﬁmdy 2‘”’ dy+8y'=03’°f3'<"$ﬁ'
e dx*  dx
m—ﬁﬁﬁmﬁmwmmmé—
(D*-2D*-4D + 8)y =0 |
TE WeH FHEH (Auxilliary Equation) B
. m-2mr—4m+8=0
m*(m + 2) — dm(m +2) + 4(m +2) =0
. (m+2) (m? —dm+4)=0
Q- (m+2)(m=2%=0 "
LR m=22,-2

ol g =CF. +PL

y= (c + sz)el"' $Cy e

dy
Wﬂﬁ'{m 4—=+4 _Oﬁ
wyq 17. Adehcl + ¥y g‘@aﬂ?“

m—qﬁw@rwmﬁf@ﬁﬂ
(D2+4D+4) y=0

m2+4m-1_-,4:0
C(m+2)°=0
. ' m=2,-2
‘quiuf'ga, y=(C; + Cyx)e™™ .

| ’4 .
e 18, IEEA - ——r+a4y =0..

W@mmmm%—
sw—fe T FECT T o v aty=0

m4+a4=0

mmwﬂmf

Q=0 P.L

gt s g

[UPBTE 200;

[ Q=PL=0

=0



srgmem afisn (771
il (7712)2 = (czj)2 + 2m2a® - 2m2a?® =
7 - (m* +a*)? - (2ma)® =0

q (m? + a® +2ma)(m? + a2 ~2ma) =0 | [@®-b*= (a + b) (a—D)]

mz+a2+\6ma =0 Tq m? + a? - x/ima =0

\Eai\]2a2—4a2 a ! ﬁa:t\haz—maz

m= — 9l m =
2x1 pe i 2x1

a

m= JE+I—\E HQH m= J_ 7-——

ax ax
Ul T y= e “"/‘/_[Cl cos—Lx+ 2s1n j’%}+e"""/ﬁ[e cos $+C4 sin

V2

v 19, FEHT THHOT (D + Dy = (¢ + 1)? & fagiw Iawet (P.L) A HACL [UPBTE 2022]

m——ﬁﬁnﬁwﬁwaﬂmwmf@ﬁm |
(D? —1)v-e*“‘~i-2r,r +1
A.E.ism -1=0

ie., (m - D +m+1)=0
¥ A L m=1,
~1+43i

T@Io"‘%‘ﬁ*f (CE)= Cie* +e ZX[CZ cosiz—%x+c3-sini2—i;c)

(P 26" )
D*-1 -
ik 31 . 2+ ,‘1 Zéx+ 1 éo

oo@-ny ((D*-p . (D'-D
=PI, +PlL,+Pl,

LR i 'e2x ‘
PL,=——((D-2)

pDP-1 .

) e e’
PL, = =
o a3 11 T T
1
Pl,= (D=1
2 (D3_1) ‘
oL o ‘D 0
“po, o Bs0
Differentiate the D, and niultiply x
' 2 xe"
= 2 D—1
3 p* ( )‘




(78] 3Fwgw nifora.Iox

PL=%_4,
. " 7 '
G“IP‘ 81 y=CF. +PlL

l JgjlezxZ

y=( 'ex+e_5x[C2 cos?/—g—x+C3 sSin—x [+—+Zxe* —1
_ 2 2 7.3

_ '[UPBTE 201
m—ﬁﬁﬁaﬁmaﬁsﬂmﬁ@%w,
| 7 (D*-3D+2)y=¢>
| Hedsh HHiET) ' 'm2—3m+2=0 ;
B (m—1)(m-2j=0 A m=1,2" 3
TF FoF (CF)= Cie* + Cyetx
WW(P.Lh“Q = 1 s -2
f(D) (Dz—su+2)e ' P'I'_f(())@[
ﬁraml):a=5'('@':i.q?,’ |
- | %0
P.I' e5x eSx _ e;Sx
| (9%-3x5+2  B5-15+D 12
a7 | vugufza CF. +PL. i

' ' S5x ‘ .
12 |

mzl Wﬂm(D3+3D2+3D+1)y-— xaﬁgﬁa,-m
m—f‘aﬁnﬁuﬁwaﬁmﬁmm +3m* +3m+1=0

m+17°=0 T [(@ + b)® + 302 + 3p2%a + V)
m=-1,-11 ‘

& HeH fC.F.) =(C, + Cpx + Cph)e™

Q 1 _x
RS (P.L) =
e ELIE f(D) (D+1)3e



R 0 T 5 A, S ——

g ) 7
5

A dHed gHtR T [79]

4 871 D=a=—1 %@ RfD=0 - D=(D-1) W =,

PI =
. _ I
(D-1+1) 3
1dx_ex.f_
. e =
st ' Wﬂfm CF. +Pl
x .3

y= (C, +Cox+Cyxd)e™ + &
1162 3X°) B

22. TR FHIHTUT %—4)’. = cos? y &I & @I
—@@mﬁwmﬁ@ﬁﬁ(szﬁy:coszx
e GHH m?P —-4=0 = m=2

@& WA (CE)= Ce™ + Ce™

| ' .1 1 2
qar - foRm wEed (PI) = 21 cos’x = —5— x[ oS x]
~ N ) ) FEE et 2

_ [.. cos 20 = 2cos2 0—1]
-1———1——e0x. —-——1——cos2x |
2(D* -4  2AD’ -4
P.VI.= 1, —————1 4 ——-1 cos 2x S FeH D =a=0
2 (0*-4) 2 (22 -4) . _92
1 [ 1] 1 |: 1:| [2+c652x) N
= —x|——|+=%|—|cos2x = —| ——
: : 2L 4] 2 L-8 _ 16
23, aa‘a'wﬁutﬁETUT(D3+D2 _D -1y =sin(2x + 5) B & o

-—ﬁa@ﬁﬁm&ﬁmmm+m m-1=0
(m+1)(m'—1) (N

=1, +1, -1
. 1JC\'Fm"‘CFE'T'T(CF)—(C +C2x)e + Cye” |
' o __ sin(2x+5) : N
= = D- = -2~
Rl fagry s (PL) = D) T D+ -D-D) (D% =-2 @ W]
= sin(2x +5)

Dx(-2)? +(-2)*-D-1 "
sinx+5) _ _1, sin(2x+’5)x(D_1)

=~=sp-5 5 (D+h) (D-D

D=t _ DCr Ry, 1

- 5D -1). 5(=22-1)




-

[ 4 (sin(2x+3) —sin(2x+ S’]
251 dx

= .--[2cos(2x +5)- sin(2x+ )]
25

2cos(2x +5) _ iig_(li +5)
T s 25
H"L"f g@=CF. +PL
2cos(2x+5) sin(2x + +9)

x
y= (Cl+c2x)e +C"e + 25 | 25

; 2 . . Y !
W9 24, IEEHE quieTor dEZXH?y =sirn3xcus§xﬁ}ﬁﬁm|

ST T WiehO H T AR fera W (D-2 +9) = sin 3x cos 5x
R FHE m? +9=0 = m==3
m=0=x3i ,
Q@ B (C.F) = (C, cos 31+ Cysin 3x)

Q@ _ sin3x-cosSx.
f»  (D*+9. -

Zsm 3x-cos Sx -

faduw g (PL) =

2AD? +9)
2 (s g
_ (sin8x—sin 2x) . [2sinAcos B =sin(4 + B) - sin(8
2D* +9) :
- .
_-_.’1: 5 sm8 ety sin 2x
2(D°+9) 2(D°+9)
1 x 5 LET : 1 | X
= — % ——X8in 8x ——+——"sin 2x sin 9“",’"811
2 2D 2 2D - [ [0 A

AN

o , =£jsih8xdx—£jsinz,\rdw ey _cos8x _ix__cos2xj
| 4 ST U s ) 4T 2

3 xcosSx+xcos‘2x
T 32 8

-g-nfﬁ ga=CF +PlL

g

xCcos8x xcos2x
+
32 8

y=-Cycos 3x +Cysin 3x—
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d*y d ,
125_3T6m“"ﬁ3ﬂ'01 Ex—2+zy+_y =2x + x* ® A FHU

—fed T THFC W W R T W,
(D*+2D + 1)y =2x + x2
TEE WHE mM+2m+1=0 = (m+1)2=0
' m=-1, -1

T T (CF) = (C, + C)e™

7 fadw wwa (L) = ~xQx+x%) =(1+ D) @2x + X%

(D+1)

12
—2x+x2—;.x(2+2x)+3x(0+2)
=x'-2x+2 [Dzﬁa%ﬁmﬁr@rmﬁm
= -2x+2

- gl g@=CF. + Pl |
y=(Cy+ Cp)e™ + X = 2x+2

= [1;(-2)D+(;2)—(’ﬂ132 +...](2x'+x2)

M 26. AaHA THIGWT -‘L—’;’-—S%+6y=e4xﬁ.‘[{$wmﬂﬂ'ﬁql [UPBTE 2022]
g o d dy Cdhy o,
— - . . =—=D,—=D'y —=D"
—fea ? ‘ e i y,dxz y
—5D y+6y—e

(D2 5D + 6)y = ¥

m L pic U (Auxlhary Equation)—
m? - 5m +6= 0
m2—2m—-3m+6=0
o m(m-2)-3m-2)=0

' (m—2)(m—-3)=0 :
m=2,3
C.F.=Cpe¥ + Cpe™
. -1 1
1 Ax e =— &
= P ' f(D) f(a)
2 e
(D*-5D+6) F(@)=0
- 1 4x A g
= e
s (4% -5x4+6)
1 ax '
l=—e"
d 2




[82]  ST3wges fvre.n

General solution

Saak:s W(D3+202+D)y=qh+x2+x
IR—FA T welteror 2t werw w4 2mt +m =0
2_
T Comm*4+2m+1)=0 = m(m +1)°=0
| m=0,-1,-1
T ®eH (CF)=Ce” + (Cy + Cx)e™
=0+ (Cy+ C)e”
i FHrhe (i)-l-) = ——1—-2—x(e'2x+x2+x)
ST T DID+))
=__'__1_'€2x+ , 1 2(x2’+x)
DD+1)? DD+

_ _xelx+=(1+ D) 2x+5)
- 22+ .. D |

: 2x - .

e 1. 2 2
= —+—(1-2D+3D"...]1(x+x
18 D(-, ) )

I—I»£ﬁ+——1-(¥+xé)—2(1+2x)-}‘3(O+2) ]
.18 D _ : :
2x 2 3 -2
e X X X
= | —4x X
18 [2 3 4x]
2x 3 2
e x° 3x
PL="—+"-22 4
T R .
gopl &&= CF. + PI
. ‘ 2% 3 2
: y=CI+(Cg+ng)e“"+f—-,+f——§x—+4x
: - 18 3 2

2

53, ST WHET (DF + Ny =cosx + e sinx+xels
w1 .ﬁﬁmaﬁmmmz+l=0
o Fo (C.I*:.) = (C,.cos x + C, sin x-)
aal 1%@"3“,”' ! _
1. esinx+x-e
_ [cos x +
(P.I.)"’ (DZ+1)

2x]"




-

EaEed et or.  [83]

—(xe™)
(D° +1)
— SS9 1 w1 | 1

. T e L€ +€-——————sinx+e2"

o 1 X .r
(D+i)(D-—i)(e‘ )+(D2+l)(e' sin x) +

X

- Tt M| | 1
w?’(—..'(l‘-kex)- 5 1 sin x +e>* - — "X
i (D+i-i) (D? +2D+2) (D? +4D+5)

. . 4 -1
' : 2x 2 4D

= aRqfeeh 9 ———x——-(l)+e [—Tl——)sinx+f—[[1+l) + ) }x
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